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1. SSD U YR 1 HehUe{l Wil feasd & sHeh1 Ui §U 1 8 2
Hifers e gied
What is the full form of SSD, a type of secondary storage device ?
Solid State Drive
2. TG TR He1 1 99 HE o [T T I W faeieh _d @9 il galq
W |
HIt
To select random multiple cells, hold down  key as you click on each cell.
Ctrl
3. THi% (APK) 1 31 2
Ugise Yokt fore
APK stands for .
Android Package Kit
4. T wismnat % auft fefsh 6 afafs FHI A R |
EISCECK]
The entry of all the PCBs of the current processes is done in
Process table
5. THUE IS H Uiee 3N Aewhy 2l
U STRER
In MS-Word Portrait and Landscape are
Page Orientation
6. Teh JTCHIIHIG I & S NEFT feen § T o aTeft sieh -3 6 fafire ugem
HIAE |
FETHTEER
is an alphanumeric code that uniquely identifies a bank-branch participating
in the NEFT system.
IFSC

YY

1 MASTER SET




ITATTRAl ¥ Hed ST Wfed hidl g R SHTHH (FEEd §aR & o0 e
fireen) Hiemser foen o fore oft ymafi 2
R (TrewshIgar aMgEiedt Aigqd)
stores the data related to the user and is relevant to GSM (Global System for

Mobile Communication) mobile systems as well.
SIM (Subscriber Identity Module)

frfetiad 3 | % 91 SRS H U R Jiiaq § 2
AT AR

Which of the following is a physical hazard in the workplace ?
Poor ventilation

Trrfires fafercdt § gdrgdl sl TAT 1 sl § 3ATehedd e o foIw Mafies gaeror i ueidl d
TR ?
TS (STgAT)

What is ‘A’ in the ABC of Primary survey to rapidly assess casualty in FIRST AID ?
Airway

10.

T 1 die, T 3maTd, foa w1 g St aTaes Tafeheat gaenati o fofu “gau awa
R ?
30 foFe

What is the “Golden Period”, for devastating medical problems like head injury, multiple
traumas, heart attack ?
30 mins

11.

Torega wira & ot 31 | frefeRaa O | fohe SRR o 1RSI 3 o1 39 fohan SaT 8 2
FAE

Which of the following types of extinguisher is used in fires started from an electrical
source ?
Class C

12.

a1 fremset meRgdl <t Iufefa o ror are IR R FrefaRga 4 g e arywa g g 2
Sfrsy <t ffssreran

Which of the following effects on the human body is caused due to presence of methyl
mercury in water ?
Tongue deadness

13.

e g PR S e i R H A THTE & 2
IgEeH (=)

Which of the following is not one of three ‘R’ in conservation of energy ?
Research
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14.

firett sreqatt & gean o foe f=fafaa 4 8 ®M @1 PPE 8 2
TE &

Which of the following is a PPE for protection against falling objects ?
Hard Hat

15.

freaferftaa o @ i a1 feq fova ot geeo feogg s w9 4 RIS 2
14 fegsr

Which of the following days is celebrated as World Energy Conservation Day ?
14" December

16.

frafafiga @ @ i 91 S aifefas-aa 0 sracs s e T A FR w1 g 2
SR 3R Hah

Which of the following organisms acts as decomposers in an ecosystem ?
Bacteria and Fungi

17.

TGS TAM ST, 1972 3 qad e ol e i ol Tl fohdich T & 2
TYfd SR

Who has the power to appoint the Inspectors under the Payment of Gratuity Act, 1972 ?
The appropriate government

18. 3TATT 9T | 37l BT ST foha bR <1 BT & 2
How many types of deposition of acids are there in acid rain ?
2
19. Thaell SIUTEW, 1948 o TEd T3 HeAToh HIHTI T TS i hidl @ ?
U HTeh{

Who constitutes the Site Appraisal Committee under the Factories Act, 1948 ?
The State Government

20. Thaelt rffRm, 1948 o AR forelt Heredl O U Tk Al & foT | % % e
FATE 2
Toreft sft woTe W SreaTeiie we @ At &l
What are the normal working hours for an adult worker in a factory as per the Factories
Act, 1948 ?
Not more than forty-eight hours in any week
21, T YraE AT, 1972 3 G 7 h UL (4) o q&d I IRl gRY uTia 31mesT
T =afq g oft e fore Tmrmater 3 oficr S1fict st dehaT 8 2
60 f&
Within what time period the appeal may be preferred by any person aggrieved by an order
passed by the controlling authority under sub-section (4) of Section 7 of the Payment of
Gratuity Act, 1972 ?
60 days
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22. ity rfufEm, 1961 W THER WM i USFIR =i & fT¢ G3Tes 1 PIaE i & g
ShIF ITERA BT 2
ERIERIS
Who shall be liable to pay compensation for employment injury to the apprentice as per
the Apprentices Act, 1961 ?
Employer
23, Trafafga & @ s e ase s sifufem, 1948 % aa war TE R 2
@ Al 1 IS H HER
Who amongst the following is not an employee under the Employees’ State Insurance
Act, 1948 ?
Any member of Armed Forces.
24. iy srfufem, 1961 % dga Uiy w1 SAEEies 3R g g & foag e
SFEATE I T 2
ERICH]
Who shall make the necessary arrangements for practical and basic training for the
apprentice under the Apprentices Act, 1961 ?
Employer
25. 9ad Yrae rfafm, 1936 % qga foet oft seml w ot oft 9qm srafya o gt i pa
T feherfl &1 wehell & 2
At 6t TR 37 Ja It § 2@ Ja % AT giowa % s iy @ it T @
Gehdl |
What can be the total amount of fine which may be imposed in any wage period on any
employee under the Payment of Wages Act, 1936 ?
The amount of fine cannot exceed an amount equal to three percent of the wages
payable in that wage period.
26. Tr=fciiad 3§ 8 HH 9o YA M, 1936 < Gad gl ol G o STRRRRI &l & 2
dierh
Who amongst the following is not the authority to hear the claims under the Payment of
Wages Act, 1936 ?
Inspectors
27. A Ia4 IUTEE, 1948 % 8d <IaH Ja 1 PTAH | i hi el § @ STeed gRR
T o fofw =6 fepa & 2
HHAT >
Who is authorised to file a claim application in case of non-payment of minimum wages
under the Minimum Wages Act, 1948 ?
The Employee himself
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28.

HHHR aaffa srfrfem, 1923 6t M o gy qul fasharmrar s1eg i aRedTivd et & 2

U 2 (1) (TT)
Which section of the Workmen Compensation Act, 1923 defines the word ‘total

disablement’ ?
Section 2 (1) ()

29.

Treferfiaa o 9 wm o Trem e wias i st fafay seram sifufem, 1952 % s
i TE & 2
Hresii-es Ay Ry e

Which of the following schemes is not covered under the Employees’ Provident Funds
and Miscellaneous Provisions Act, 1952 ?
Public Provident Fund Scheme

30.

HREAT T HigeTI3A o1 A Icfied (Tehermm, vy 3t famon) stfufem, 2013 % @R
SATafer afifa o e o foru foreft gfasm o we=niai 6 gen 9 gefud wd w2
10 139 3feRR

What is the condition relating to number of employees in an establishment for the

constitution of the Internal Committee as per the Sexual Harassment of Women at
Workplace (Prevention, Prohibition and Redressal) Act, 2013 ?
10 or more

31.

e syl ol 1993 % sl R ) e 3 ey s v e
S B e 55 s e e
FTel U7k & 07T ToRT T AR S % 60 ST o SIS TR 31 Th W1 et &R
6l S ot s A

What is the amount of compensation payable to an employee in case of permanent total
disablement resulting from employment injury under the Workmen Compensation Act,
1923 27

An amount equal to 60 percent of monthly wage multiplied by relevant factor or

an amount of one lakh forty thousand whichever is more.

32,

78 g rfufrem, 1926 % 31ei Worgr it Frgfm s w2
Y TR

Who appoints the Registrar under the Trade Unions Act, 1926 ?
The Appropriate Government
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33.

3fenfies faare srfufem, 1947 % d8d Sta =T %1 Tgfad TR S fUe g@ied 6
T SRy g 2
AR T 3Hh! Wi & B & B TE o iaw

What is the time period for the Courts of Inquiry to submit the report to the appropriate
government under the Industrial Disputes Act, 1947 ?
Ordinarily within six months from the commencement of its inquiry.

34.

HREEIA T HEATIT Bl F IS (TUshem, ey 37T famon) stffrem, 2013 <6 form am
& dgd I IS’ vise ! gRTiyd fran man g 2
TR 2 (T)

Under which section of the Sexual Harassment of Women at Workplace (Prevention,
Prohibition and Redressal) Act, 2013 the word ‘sexual harassment’ is defined ?
Section 2 (n)

35S.

HIed T SR, 1961 H Fean gened Frfoiigad 5 & fore a8 9 forn o g 2

The latest amendment in the Maternity Benefit Act, 1961 is made in which of the
following year ?
2017

36.

freferfiga & & o sl & argea oy arfuftem, 1961 smp T 2 2
B STl SuHaT A A S |

In which of the following establishments the Maternity Benefit Act, 1961 is not
applicable ?
The establishments where ESI Act is applicable

37.

Sienfirer forame stfufrm, 1947 % 31efi9 geaey % = & ey § fefafad § @ =F @
FYETATE ?
TR o I H T&ThR WA 181 & |

Which of the following statements is wrong regarding selection of Arbitrator under the
Industrial Disputes Act, 1947 ?
The parties are not free in selection of arbitrator.

38.

FEIE Tl giom
3 SAfeT <h! THERIT ST Hehdl & 11 S8 JTEEHd &, Tieh & SR T H E |

An objective test result :
could be explained to someone who disagreed with it, so that they could not
object.
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39.

& :
T 7§ AT 1T SR & Forereht qetieh=T 2 i g udleor e St |

An intervention is :
a new or different process being tested by evaluation or experiment.

40.

T ¥ fopg TUTaaT YaEA Ui I TUETqel %1 § SfrTd giad i deb-ie & ®9
IR TR R 2

Rrerg -
Which of these quality management methods has been adapted to be a technique for

personal transformation in quality work ?
Six Sigma

41.

TQM STshY o H1eT o fereft ot bl argei o fofu 598 & i &1 feemficeT goem oy &
BRI 2

T8 U T A
Which of these guidelines for transforming a company through a TQM program would

not always apply ?
It will take five years.

42.

o

ffeTiad H & fora 1928 H SREI TTg ol e fohal o7 2

FIER IS U

Who among the following led the Bardoli Satyagraha in 1928 ?
Sardar Vallabhbhai Patel

43.

T = X firrad frmfarftaa O 9 frd siest 31 a4t amel 1 gurerdt 8 2
STEHATS b FARC % i e <h JnfRreh T <h T1eY, 39 TJUrer |

Variations on control charts handle all these cases except which of the following ?
Higher quality, with more levels of sigma within the requirements specification.

44.

frefetiaa 8 & fepem “atadl U 3H-Torfes & 37 sfeam qeaes forelt 2 2
TIGTHTS ISt

Who among the following authored the book ‘Poverty and Un-British Rule in India’ ?
Dadabhai Naoroji

45.

U Tl fder o 7d 4 fopa U= 0 smnfra foan Sirar 8, =g Het 1 ok st wmfia g,
=2 @tai 1 qaar AT ST § 2
LEIC]

Chhappar Mela held in the which State during the month of September, this fair is
dedicated to Guga Pir, who is regarded to be the God of Snakes ?
Punjab
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46.

T I o TUH TR T - i & ?
Y. TSt

Who was the first Indian Governor-General of independent India ?
C. Rajagopalachari

47.

HifeTeh e R dfgerm o freferiea @ o fora =g 0 geflag & 2
G 51-T

Fundamental Duties are enlisted in which of the following Articles of Indian
Constitution ?
Article 51-A

48.

TG 3TN 35h &A1 <hi Vi, foRTiespR 3T Igferat YT dfqe™ & fhd 3r<se &
A IGH HI TS & 2
ITE 105

Powers, Privileges and Immunities of Parliament and its Members is provided under
which Article of Indian Constitution ?
Article 105

49.

TUAGE 1 HIH T T Teh Te¥ GRI HiGell o o1 H Ieieh SR ST ¥ T id ATeria o |1l
ferSTaT ® 2
T

Which dance of Baghelkhand is performed by a man disguised as a woman to the
accompaniment of musical instruments like dholak and nagara ?
Rai

50.

T TiTe o AR, 3wse 25-28 Fefoiea # § forg 1fspr @ Fefia g 2

YTfiieh T ST SATHR
According to Indian Constitution, Article 25-28 deals with which of the following
rights ?

Right to Freedom of Religion

S1.

TS <1 gfaa i & J=meri o1 9errar 3eH foheeh gy Iid glat g 2

S Tort ST
The grants-in-aid to the Panchayats from the Consolidated Fund of the State is governed
by

The Central Finance Commission
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S52.

YA < FfIGM § S, HTESTeh Hedi SR ARG 3R 11k SRiaTEal sl H=dT drae
g Y freforfaa § @ form g A onfer & 9
qred gt

In the Constitution of India, recognition of laws, public acts and records, and judicial
proceedings is included in which of the following list of Seventh Schedule ?

Concurrent List

53.

qrere AT T W FEIET dat shi ShIFdi H Sl 3T T1g o Uieh SATIR I TR =T
fIhetaT o ShRUT @t YEIEhITd | Icaa ST Tehe o1 g8yl SR 49 3TN SAi=d
Topam T o |

ERCI
The final Draft of the fifth plan was prepared and launched by in the

backdrop of economic crisis arising out of run-away inflation fuelled by hike in oil
prices and failure of the Govt. takeover of the wholesale trade in wheat.
D.P. Dhar

54.

g shifd o SR SRR gRT Tnfid T8 TeerHl 3 o yftreet fwrg 2
I hICi o HAI & SATE! T WA ¥ HL AT |

What role did Research Institutes established by the government play during the Green
Revolution ?
They reduced the risk of ruin from pest attacks.

5sS.

frferfiaa & @ form w3 Tl sgammdt T geei : T i TEter 2023 i @
GO TEhTT ST foha 2

ifa s

Which of the following institute released the 2™ edition of National Multidimensional
Poverty Index : A Progress Review 2023 Report ?
NITI Aayog

56.

fFrfafigd § € S 1 151 IThdeh STTIEI3TT o SR fha™I sl HHA o THHM & AT
|7 e TeH T Wehigd & ?

T B ST ASHT (PMFBY)

Which of the following schemes focuses on providing insurance coverage to farmers
against crop losses due to natural calamities ?
Pradhan Mantri Fasal Bima Yojana (PMFBY)

57.

HTaH shl qTY] HEfe gl
The atomic mass of carbon is
12
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S8.

frefaRaa o @ o a1 o9 e e % fore Hifa 3w % g T W TR g 2

Which of the following is an autonomous institute under NITI Aayog for Labour
Economics Research ?
NILERD

59.

Tad g 3T IS o1 Iige f=feiRad O 8 forahl ggmara giar g 2

TfehaTseE

Transport of oxygen by blood takes place with the help of which of the following ?
Erythrocytes

60.

NEEEAREt T FUEAR |
[

The sperms are produced by the .
testes

61.

% _qRATS” (e-Paaravai/e-Paarvai) WRd o =ifoTRad d & forg T=r/shgmia 9ot gra TS
T8 Al-31enfid mifaafee St ufterers g 2
AT

The “e-Paaravai/e-Paarvai” is the Al-based Cataract Detection application created by
which of the following States/UTs of India ?
Tamil Nadu

62.

Tepeft =g <hl Tiferet ett SEh! Tf & @1
Sl & |

The kinetic energy of an object with its speed.

increases

63.

(x+1)2 — x?=0 = FHIHIT H AR Ieh Getl hl T o TR |

Equation of (x+1)% — x> = 0 has number of real roots equal to :
1

64.

fFefeiRed gt d g o H asg ol 82
Which is greatest among the following numbers ?
W27, 23,45

23

65.

[(“9)* =+ (-9)719] x (-9)10 & Tt iU |
Simplify [(-9)* + (-9) '] x (-9)°.
6561
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66. g 1 9 UTHAT H Wep Ffvera 37fd © | gell il H, 36 100 W ST s 39e1 3190 8
T S T | 3EehT AT A 7 -
Rahul has a certain average for 9 innings. In the tenth inning, he scores 100 runs thereby
increasing his average by 8 runs. His new average is :
28
67. 0.9637 +(?) +38.9 +22.257 = 91.1207 H (?) =T UM ATd HIT |
Find the value of (?) in 0.9637 + (?) + 38.9 + 22.257 =91.1207.
29
68. et # @ feroamd, =quam 3fiv fafer foraeh warfaam g 2
EEI
69. Tr=fciRea @ @ ¥t facim-3m fopg faspea 0 8 2
HTF -SERT
70. T=fefed ¥ @ fora foeren o yfoam firmeis weg o ot i wg 8 2
IR - I = I — AN
71.  fTr=fefaa # & frn geh arfg fopa fopea @ 2 9
B Jldfe =@ shiaAT =iy |
72. freferfaa gt — 1 % ST o1 g=ft - 2 o vreei < @7 gafera Hifre
-1 Tl -2
(1) Y SieH g1e a.  HYHU
(2) & s T b, 3IH
(3) UhGUIHHh e . Traumdh
(4) TE-TAMASTE d.  HA
(1)-¢ (2)-d (3)-a (4)-b
73. SR=hedta 4 FEfeiad 0 8 o fefem w1 R & 8 2
T Gl
In basketball, which of the following is not the type of dribbling ?
push
74. o Sutt g 2015 H wfUd < STTIHE Sh 1 AT qfere |
RIS
The headquarters of New Development Bank established in 2015 by BRICS countries is
located at
Shanghai
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75.

“TTE! o qaIdT” TR J&Teh o 1@ i & ?
it At

Who is the author of the book named “Gunaho Ka Devta” ?
Dharamvir Bharati

76.

fiffre H G THE ¢ |
TARET

Ringgit is the currency unit of the
Malaysia

77.

GUEER I, T3, fof-mior, SIS o &= § IchE ANTGH o 1Y qre=r qTiiefaeh-
T o TIHTEd i o T DoT g FHH=feiRad § & hiH &1 J0eh R TTfUd R T8 2

U deATet ST TEAR IchEdl JEhR
Which of the following awards have been instituted by DoT to encourage the telecom
ecosystem for their outstanding contributions in the areas of telecom skilling, services,

manufacturing, applications ?
Pandit Deendayal Upadhyaya Telecom Excellence Award

78.

YT ShiFel HTHTST shl TSTET , STgi o foTu afest & i I8 W gg 7 319 o
e THchR foru &, Tores 3eh1 ors i ot fmior off smfirer e |
A&

capital of the ancient Kosala kingdom, is sacred to Buddhists because here only
Buddha performed the greatest of his miracles, including that of the creating his multiple
images.
Shravasti

79.

frefafiga @ 9 < 91 ST e w1 Hued e i g 2
e

Which of the following is not a bordering state of Uttar Pradesh ?
Odisha

80.

3t <61 T T U9 ATSHT b AT i fohaT TTfées 3MeH JgH fhen STt 2 2

What is the monthly grant provided to the beneficiaries of UP’s Leprosy Pension
Scheme ?
T 3,000

81.

It o I, H e Afeel deh Jod Hid T 3T X 9T U Eoshi 6 Teh &
Taferd A B |
il

The dance of UP, involves a female dancer balancing a column of lighted deepaks over
her head while dancing.
Charkula
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82.

frfafiga @ 9 i 91 3T v wdeq & dig Gfehe w1 fgwm g 2
YA

Which of'the following is part of the Buddhist circuit of Uttar Pradesh Tourism ?

Sarnath

83.

Give plural form of “Hypothesis”.
Hypotheses

84.

Choose the correct plural form of “aquarium” from the following :
aquaria

8s.

Choose the correct tense from the following :
Breakfast is an important meal. I breakfast.
always take

86.

Choose the correct tense from the following :
I’'m tired since | for the last 3 hours.
have been studying

87.

Which sentence has the correct punctuation ?
Sarah is studying German, Physics and Chemistry this year.

88.

Tore) Su=TeRal 1 ¥ T 3-HA Ik TS |
ESEIC)

E-mails sent to a user are delivered into their

Inbox

89.

gISehid! Y& i o ToTT fore Sqehtor 1 Suam foram ST 8 2
BT

Which device is used to provide a hardcopy ?
Printer

90.

THUY T fie H R it hi BTSATSE i hi ITdehe Hafl FATE 2
el + THER

What is the shortcut key to highlight the entire column in an MS-Excel Sheet ?
Ctrl + Spacebar

91.

e 34 Tl shl AT <1 AT shiar & o0 dwamd Bt & 3K tele daeheiie
Tehi <h! T o HicR T ST TUMT LT 2 |
The function counts the number of cells that contain numbers, and counts

numbers within the list of arguments in an Excel worksheet.
COUNT()
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92, 3Trqifen foreem = 1 @ fopm aforent o1 Ta@a T& AT g 2
A T
Operating system does not maintain which of the following table ?
thread table
93. icis g fafee Jeaeh eI I Th IR ¢ |
College Campus building network is an example of network.
LAN
94. THUH-TE H Y T SR oh THIVS HTTH hl T TR Th UTSe b il Tl Tehdl & 2
Ctrl + | TR
In MS-Word how can you increase the font size of selected text by one point every
time ?
By Pressing Ctrl + ]
95. TR U fferiad § & hiF O1 e 1 T T8 8 2
T
In Excel, which of the following is not an element of a formula ?
Picture
96. THTH 9E H gUIGhT, GafGhe, ST3TATE, THid, T i &% ®9 H STHT ST 3 |
TITE SHaCH
In MS-Word superscript, subscript, outline, emboss, engrave are known as
Font effects
97. TS H, 8.5 x 14 % JTHR dTA SHITS hi FET AR |
KUK
In Word, paper size with 8.5 x 14 is called as .
Legal
98. T3 (CRT) 1 HdoTE 2|
HAE IS
CRT stands for
Cathode Ray Tube
99, HISHTTR T8 AR 2 |
AT
Microsoft Word is a/an software.
application
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100. T B il foreft oot O arafess SoT o TIAH W (# # # # #) Tag eiid BiaT § | e
Taels T8 ?
T he TSR i o T8 | qaTd Ser 781 @ |

In Excel sometimes (# # # # #) sign is displayed in a cell instead of actual data. What
does it mean ?

The column is not wide enough to display cell content.
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